
DETAIL  A

DETAIL  B

DETAIL  C

DETAIL  D

#FGT-01

Scale 1 / 2

#FGT-02

Scale 1 / 2

#FGT-03

Scale 1 / 2

#FGT-04

Scale 1 / 2

Scale 1 / 4

SECTION E-E

SCALE 1 / 4

Scale 1 : 1

#FGT-05

#FGT-06

A

B

C

D

Parts listing (For 1 ass'y)

QtyDescriptionPart number

4Steel strapDUB202

2Float strutFGT-01

2Float strutFGT-02

2Float strutFGT-03

2Float strutFGT-04

2Float X-wireFGT-05

2Float X-wireFGT-06

2Streamlined tubeFR-01

4Float bracketFR-06

4Float bracketFR-06A

2Graphite tubeGT-07

8Stainless 4-40 Nylock NutSS-Nut-440

4Stainless 4-40 x 3/4" lg.SS-SHCS-440-12

4Stainless 4-40 x 1" lg.SS-SHCS-440-16

E

E

1

1

2

2

3

3

4

4

A A

B B

C C

D D

Dwg by:

Date:

Drawing No:

Rev.:

www.mraerodesign.com

MR Aerodesign

2012-11-21

Float-manual-01.idw

0

 

M.Rousseau

1 1 of

Sheet

FGT-04

FGT-03

FR-01

FGT-01

FR-01

FGT-02

FGT-05

FGT-06

FR-06A

SS-Nut-440

SS-SHCS-440-12

FGT-06

FGT-04

FGT-03

FR-06A

SS-Nut-440

SS-SHCS-440-12

FGT-02

FGT-01

FGT-03

SS-SHCS-440-16

SS-Nut-440

FR-06

FGT-06

FR-06

SS-SHCS-440-16

SS-Nut-440

FGT-01

FGT-05

193 mm

[7 5/8 in]

208 mm

[8 3/16 in]

154 mm

[6 1/16 in]

218 mm

[8 9/16 in]

FGT-06

524 mm

[20 5/8 in]

2°

Graphite tube

4-40 Threaded coupler

4-40 Steel Rod ends

4-40 Threaded rod

Streamlined tube

132 mm

[5 3/16 in]

143 mm

[5 5/8 in]

127 mm

[5 in]

32 mm

[1 1/4 in]

Streamlined tube

Graphite tube

Glue with epoxy

DUB202

DUB202

1/16"

13 mm

[1/2 in]

Cut this part

Cut this part

DUB202

376 mm

[14 13/16 in]

355 mm

[14 in]

2-56 Spring steel Kwik-link

4-40 Threaded coupler

2-56 Spring steel Kwik-link

4-40 Threaded rod


